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(1) Sk = 15k
1+2+3+2+5
(2) Sk = 19k(k + 3)
4+ 10+ 18+ 28+ 40+ 54 + 70 + 88 + 108
(3)Sk = 142k - 12k + 1
13 + 35 + 57 + 79
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(8)a,, =43,d =5
a,=5n-12 , a,, = 88
(9) 25, 26.5, 28, 29.5, ...
a,=1.5n+ 235, a,,=53.5
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S = 102(6 + 60) = 330
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Si0 = 1002(2(1) + (100 - 1) x 2) = 10000
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14-12=2, 12-10=2
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a,=2n+28
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S, = 142(10 + 36) = 322
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S, = 10(2a, + 19d) = 730 = 2a, + 19d = 73
S, = 15(2a, + 29d) = 1545 = 2a, + 29d = 103
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d=3
101 o Jis il alubwioll 593> 536 321 (17)
a,=3n+>5

3n+5<101 = n< 32
=n = 31
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a,, = 2a, = a, +9d = 2(a, + 3d)
=a, = 3d

a, =50 = a,+ 17d =50
= 3d + 17d = 50
=d=25

=a,=7.D
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d=y-Xx
a=y+(y-x)=2y-x
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ag=a,+7(y-x) = a,=8x-7y

x=a,+7(y-x) = a=8x-T7y
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